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SECTION I
USAGE

Questions: 27 - 54

Directions: This section consists of a number of incomplete statements, each of which has
four suggested completions. Select the word or phrase that best completes the sentence

structurally and logically.

27. M O|=0M 3Kt

28.

29.

30.

31.

A) gt O[]
B) &4 2IX]
C) &t dolEt:
D) &H44o|Ltot

e Y =HMX| 37
A) a2

B) 2™

C) efiLfstH

D) a2z

X2 WatEol Lh7te
A) ZolLt

B) Zeld|

C) Zolx|gt

D) ZOl2tx

BAH opLlof2.

ste4D Sl 2.

Zo| 7tAlZHo1R7?

Ol EME #/M LIE & A04L.

A E
B) =
C) &

D)

MW HZE AsiA

A) 4
B) &t
C) &
D) &4

L Algfol & 7HLE Uoi=.
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32.30ot0l=__ Et A &x| gotR.
A) EA|
B) 047t
C) EX{3
D) Ot 2|

33. M7t oS W= 7hdtsid HE2 X gi%iole.
A) =&
B) B+
C) ol
D) MH

34. X7| B0l= X ZAE0| M7t of2iS mf otk T MO0,
A) Chel
B) CL|=
C) ChL|E

D) CtLm UE

35. X 842 ol 2loto ot ro™ Brg & x| gote.
A) CHFSHA
B) B A
C) L42HSI A
D) THCH2 R A

36. LI H|7} 2E2 SM7F .
A) 22HX|gt
B) 2Et1 S
C) Q&3 steo)|
D) 2cCt1 st

37. Lt o 2ol T AZEa.
A) BCH
B) &Ct
C) 2tct
D) gfct
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= MolCt.

O
rlo

38. 22 Z7|o
A) ER elo|
B) =& 20|
C) o1& = gi0|
D) & L+ giol

39. O|H &t7(ofl= H={o| o EA=C], CHE 3f7|ol= B3 SFHM F2 Hr
A) #ote
B) &0l
C) gk7 Qlo{e
D) &2 Hol

40. EOFH K|, X{8| o= EAH B H A 2.
A) &, &
B) =, &
C) &, &Ix|
D) &, TIX|

41. Mg 2lo| o= 20| ¥ (O)7t UT 4Axt ol DFOIZ7HF__ (0)7F oL,
A) 7l, E
B) 7H, O
C) 80|, 8
D) &0, ot2|

42 LS 5 & mollA gh=0{E MEiE.
A) o™
B) Alx|gt
C) AHuL
D) AEX|2tT

43. EQYUOEAl__ 12A__ E=o{E SR ELUCH
A) Of| A, ™
B) 0ilM, o
C) 5 E, oflA
D) £E, 7HX|
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44. X of0|7} 7|7} TtobE LpECH  wate
A) M
B) A
C) XA
D) Az

45. L= 2|2t 01§ 40| RloiR. 2| E2 25 et
A) =i
B) A
C) X+oH
D) &%t

46. EollA 7o TVE E =0 C= k= NES L= s )
A) #35]
B) 2%
C) Of%|
D) Oh&

47. R/ E2 ZRET L. M#HE Fole.
A) 2%t
B) HIct7t
C)adix
D) [h2kAd

48. 7}EX| ot 7} a1 AXSML.
A) Al

49. 8= £0| U2l Ae M of2loto|x7 AlLtAH Flo{ChHeiCt.

B) E& %?
C) E=2tn
D) 2L
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50.0t7|= &8 LT OHFE AMCH 21 QloiR.

51.

52.

53.

54.

B) X SUS
C) AKX
D) +ET+E

SEREAME BlAto] = JtA 7} EolR.
A) X|
B)
C) m

D) &

am #H20i 7hK| OfQACHH, L M B0 2R E ZE0

UE o{fE 0| 1 doj| 2l x{of stct,
A) 2T o4

B) & 7|2t 5t

C) 274 %! H&of

D) YoM 82l

o{HL|, Aof Het=gAe.
A) 7k

B) 7tXtOFR}

C) 7t=7t 3™

D) 7t7|= stx|gt

-END OF SECTION lI-
-GO ON TO SECTION lil-
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SECTION Il
Reading Comprehension - Questions 55 - 80

Directions: Read the following selections carefully for comprehension. Each selection is

followed by two or more questions or incomplete statements based on its content. Choose
the best answer and fill in the corresponding oval on the answer sheet.

Read the following passage and answer questions 55 and 56.

B NS0 et= 0el0] S BOtS| & = U= SIY HEI0l TH2S H2AELICH

CAZ2MHF32L LR 2AI2H6AINXN 2 H, 22 4A13020= ME U FE=
AN2ZtE JSUICHL E8tIHE 0N 2 = 3Y0s 2SI E2 0T IHEUCL SE398 st &

SUSHAVIE A NHOZ <R 2 2 &M St 3 BHSI|> #ALS JHELICL

55. What are the service hours for the newly opened library?
A) 2:00 P.M. to 6:00 P.M. on Fridays
B) 2:00 P.M. to 4: 00 P.M. on Mondays
C) 4:00 P.M. to 6:00 P.M. on Sundays and Saturdays
D) 9:00 A.M. to 5:00 P.M. from Monday through Friday

56. What is the special event offered in September?
A) Giving away old books
B) Making a book with parents
C) Reading a book with parents
D) Reading a book with the book author

Read the following passage and answer questiohs 57 and 58.

Sl EJASE MG L A= 20 =8I w4 WHZE JES H0| AULCH 6HXI 2t
gglte AU mA M0 HR 2F0 XLECHD BHHGIH QHE 0L 2E <<AME S0
25t ACH>Z U HRACHL JeiL BHZ AL AL 231 JEHMA O L2 J18]0t = o
KHAIOIH SE= €2 6t SIACH JEIH 22 UE T2 <<AES0| 2310 Ulk>=
432 HEUJL, IH=EIA 60l e 28 WO

57. Which of the following expressions best describes the passage?
A) Silence is golden.
B) Early bird gets the worm.
C) Failure is the mother of success.
D) Heaven helps those who help themselves.

58. Which of the statements is true?
A) She used to be a successful anchorwoman.
B) She was too emotional to host the talk show.
C) She was the first African American anchor woman in the United States.
D) The program People Are Talking was the basis for Oprah’s successful career.
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Read the following passage and answer questions 59 and 60.

si=o mEsoe s=0 NS 1 S04 40P RS B ESE S5 As0id
21 0ICH 41201, §, &, LIS, 15, LH2, &, HIDH S £451 X2l A LI HES2
ot J|E PHECH 01 M SHS 01K B T PHKI ®oHXI = 24| 8t 3 & 6001 JHXI Dt Lk

59. What would be the best title for the passage?
A) Nature In Korea
B) Korean Musical Instruments
C) Over Sixty Kinds of Korean Music
D) Cultural Experience through Traditional Music

60. The following statements are true EXCEPT
A) There are over sixty traditional Korean musical instruments.
B) Traditional Korean music reflects the lives of the people in Korea.
C) Traditional Korean music is composed of various sounds of nature.
D) Traditional Korean music instruments are made of natural materials.

Read the following passage and answer questions 61 and 62

A—IE NEZSHU0AE OSHES 2O N0l SE SUSS HUOZ SUA 20| WIS
X8 SO0ICH 40| ZOIE SHMSS AT 2 LHLY SR 0{BF AFSSHH CH 8t 812 2318 S

HE L3 HORI T Ch5HE o) NeiARIS BHR0) 251| IS BAAIID /UCH

T EU0IS BRO D2 Y DISE SS YSEI0HL B IS BR0| DA S S 23 &S

MAFSH Y, B QT HOR TAG SR 014 Al Bt =0f 22 L 23 MIB 0 2 WHEICH

61. One class in the camp consists of
A) One teacher and six students
B) Two teachers and six students
C) One teacher and fifteen students
D) Two teachers and fifteen students

62. What is true about the camp?
A) This camp is taking place in the United States.
B) Students will improve Korean writing skills.
C) Students have hands-on Korean cultural experiences.
D) The camp is for non-Korean students living in the United States.
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Read the passage below and answer the following questions 63 and 64.

0l=2] &t w3l=0|UXSHH IR SLEt HES £+t ALL FAEZ Ft= 2

IS =10t OlLIULEH 23512 212 SUILEH=01S2 &0 S NI FL ZWALH
OHAICHO|ZF FAL ZHI|RH B2 2 SIIS2 IS H2EACE 20A410] =8 S0 A
ESoHHUNSS EAS S8 CHE ASIMHIAS S S0H MB0HRUCH
HWANSES IISWE M6t otA0| AtEF2UA L& - SHE 2ES=05 J104 RLCH.
1 Z0tot2A0 AE =0l 25t fI5H 2 =201 0|2 XS2| 40HA E J1E0] J|S 1
A XS 0IRULH

63. What seems to be the best title for the passage?
A) Religions That Affected the Lives Of Koreans
B) The Influence of Christianity on Korean American History
C) The Reason Why Christianity Became So Popular In Korea
D) The Importance of Buddhism And Confucianism in Korean History

64. Which of the following is true according to the passage?
A) Missionaries provided social services to Hawaiians.
B) Christianity has the most impact on Korean morality.
C) Christianity helped to send Koreans to Hawaiian sugar plantations.
D) Missionaries failed to recruit Koreans to Hawaiian sugar plantations.

Read the following advertisement and answer questions 65 and 66.

L EBZCEH0] FXE
JHZ SEIZ20H0 2CH!
OH LI
& 4: 22l (Olney) OF2l =&
QAL 78 122 (2)~ 8 42 (Y) X 8Al
SAEE BNIIFN A2 ITJH < St .

65. What kind of event does this advertise?
A) A picnic party
B) A family reunion
C) An opening of a park
D) A musical performance

66. Where does this event take place?
A) In Baltimore
 B) In New York
C) On Broadway
D) At a park
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Read the passage below and answer the following questions 67 and 68

0= AXZX02HOI0IE 24 SEZ J#E 20108 SoHS A+'01A IIH 23 0[E 2!
Sr=2 LGOI B2 a2 dFMOD 128 28 SHBULHL S0t £ AP XY
MEQAIDHLD ECIE0| &2 20104 22+ 8 1020 ZERLL ME2 108 S 63
AMIIDHNE H+2 HREAT FE =2 801X HE2Z 2AHO0IE SRULE E6
X108 0122 8 AXEX THEE2 2 ¢0HE 20108 Soll2 AZX HELZ HE0HIE
ML O2ID 0I=8 FE F2X <<AEX UHAEY0/EIE>>IH &2 20108 JHE I A 0f
HEAEX 82102 Jt200i &3610| < L OI#@ <2010 H0fl 8= LW HAHO0=
20104 28 HUCIHIA S8 SH SETUA AAEDIIECZ SHES Z2MH ctojg ol
2 22| OLAICHOIR E &l KX D SE a2 25 ML

67. What is this passage about?
A) Yu Na Kim’s 2010 end-of-the-year awards
B) Top 10 American athletes in the year of 2010
C) How Yu Na Kim became the top figure skater
D) List of Korean athletes who boosted Korean sports into the global stage

68. Why was Yu Na Kim so unique when the Chicago Tribune selected her as one of the ten
best athletes of 20107?
A) Because Yu Na Kim was Korean.
B) Because Yu Na Kim was the only female and non-American.
C) Because Yu Na Kim set the world record in the Winter Olympics.
D) Because Yu Na Kim won the gold medal in the Winter Olympics.

Read the following passage and answer questions 69 and 70.

ct3Z2AE | 0122 |F0S0| |8 DLW "'AZAY "t IAZ2A 28502t
Ecls 2 £F00t €8l e ZE B)|= HH2S0I0. 2324 AEQ Hel RFE0s
JE0| SHEHN U0 2A4IAZA B2 FEE H0 ULL SH2 4322 LAELOZ S
0t HAE Soff 4UES SO 22 €= 0|0 +HI2 3L 4UHY0| SEGIX

ROIEE AN A4UHL0 ARE B2 XS AU E= S22 %= AOILL

69. What is the genre of this writing?
A) Editorial
B) Book review
C) Science report
D) Explanatory writing

70. What seems to be the best title for the passage?
A) How to Play Lacrosse
B) History Of Lacrosse
C) Benefits of Playing Lacrosse
D) A Coach’s Guide to Lead a Lacrosse Team
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Read the following passage and answer questions 71 and 72.
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71. Who wrote this email?
A) A student
B) A teacher assistant
C) A substitute teacher
D) A homeroom teacher

72. Why did she write it?
A) Because she wanted to meet him.
B) Because she could not continue to work for him.
C) Because she wanted to let him know her email address.
D) Because she wanted to know what she needs to prepare.

Read the following announcement and answer questions 73 and 74.
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73. According to the announcement, what kind of event will be held?
A) Speech contest to promote children’s health
B) Essay writing contest on anti-smoking campaigns.
C) Mini marathon to support lung cancer patients and their families
D) Public hearing for a new educational policy on a student health program

74. This event is
A) To improve writing skills
B) To reduce drug on campus
C) To promote the public health
D) To recruit new student reporters
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Read the following passage and answer questions 75 and 76.
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75. The successful bilingual program has NOT been recognized by the public because
A) It cost too much.
B) The public was skeptical of the program.
C) Many students did not participate in the program.
D) There were not many professional reviews on the program.

76. Which of the following statements is NOT a benefit of the bilingual program?
A) The bilingual program makes students academically successful.
B) The bilingual program assists students in becoming multicultural.
C) The bilingual program enables students to make more money in their future.
D) The bilingual program makes students adapt to different situations more easily.

Read the following passage and answer questions 77 and 78.

4

DP%% FIHASE HD N2 Q2T @1, 6 ¢ &CHACHSHIIE AHEOL
1S &0t EIOIS0il Bt= AFES0I X &CH DefLt Ol & ‘& HAI otS’

EH O Crerst elo Tst k2 EI(0/0 2CHKI B EHstXl &
IR AeSoll X Q=0 Tetd He AR AAZ HE =N S84 EE

o A
n oo

A (TS
N
J
oo 2
=
I0

0 = >
W 2 ¢ > u
e = o

L

$0

rir

=

O

[w

Fo

77. What seems to follow after this passage?
A) How to learn table manners
B) How to choose the best buffet restaurant
C) How to enjoy the food in a buffet restaurant
D) How to get the proper service in a restaurant

78. According to the passage, what is the best merit of eating in a buffet restaurant?
A) It costs less.
B) There is a lot of variety of dishes
C) Diners can eat as much as they can.
D) Diners are not bothered by the server.
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Read the following passage and answer questions 79 and 80.
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79. What would be the best word describing the father’s characteristics in this story?
A) Stingy
B) Clumsy
C) Honest
D) Courageous

80. What is the side dish on the dining table?
A) Salt
B) Fish
C) Kimchi
D) Soy sauce

-THIS IS THE END OF THE TEST__
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